Question

2
Function f(x) = XZ —4 on the interval [—5, 5].
X +4

2x(x2+4)—2x(x2—4) 16x

f'(x)z X' —4 _

X +4 (x2+4)2 - (x2+4)2
Critical points: x =0: f(0) = 1.

As we see fl (X) >0 when x>0 and fl (x) <0 when x<0.So, it's minimum.

We have:

21
X=—5Zf(—5)=5; 21
absolute maximum on the interval [-5,5] equals =, when x =-5and x=5
x=0:f(0)=-1, = 29

21 . . . _ _ =
X=5: f(O) _=t, absolute minimum on the interval [-5,5] equals -1, when x=0

29’

21
absolute maximum on the interval [-5,5] equals ==, when x =-5and x =5
Answer: 29

absolute minimum on the interval [-5,5] equals -1, when x =0
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